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Tick if this answer is Confidential: []
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Project code: ENWLT2003 Question 12
Number
Question date 1 September 2011 Answer 6 September 2011
date
Submission 4
section
question
relates to
Topic Evaluation criteria
Question On p22, proposal states that ‘costs are estimated for 180 customers.
Should this be 1800 customers?
Notes on n/a
question
Answer Yes, it is a typographical error on p22 of the Full Submission; 1800
customers was used in our calculation.
180 rings x 10 customers per ring = 1800 customers
Attachments None.
Verbal None.
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